LIMBO LUMBO

Tenor, Baritone (Bass) and Piano (Opt. TBB)

Mark Puddy
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Limbo Lumbo - TB (opt TBB)
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Limbo Lumbo - TB (opt TBB)

If 3 parts are too difficult, use just Tenor +Bass

Tenor + Baritone

— =
N @)
~ 1
| 2 N -
L A./ e
= (LI
s il
~ W =2 Mw lw
N N M o
[
_ i
: ]
L o * :
I =
: Il
L 8
i e s
E il
E i
o]
o ||
5 |
il -
X Pin |mv <N C I
el
v g
M- 3 _
WM S
3 |
Q
W L 8 »- LS
3 il
= L AJ L)
I £ ) v
ST SN
] ~C
[
i ..lhv
Q
5 Y= ’ O
N — e’

89
()

Lim - bo!

Oh

Yeah!

—~

be

o

\

Comeon and lim

bo!

Lim

bo now!

lum -

Oh!

Y
hdl LN

DS Al CODA

(no repeat on DS)

/A

94

b
1 1
4 7 ~e ~y
sl m ] m Hiu- H -
L 1 T
i 1T \ ®
N 8 N 5 ;Dr\ ;&v
V| £ | £ T T
£ = H H
IMH = 1 = -Mw -M
Q 3 | 8 QO T
g g 4
- 5 3 e N
1 ] 1
¢ ~e ~y
1l & M- X
1 [
8 T e
" ) Y
-a N HI.N TN
N ez N N
\ £

8% __|



